11”59 (Kl 17%59)

Linearized knot diagam

Solving Sequence

69 —>10—>7—>11—->14—>3—>2—5—8 —>>C1,C4,C7
C9 Ce 10 (11 C3 C2 Cs (&

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (u'® — 8u'® 4+ 25u — 36u'? + 190" + 4u® + 2u” — 2u8 — 6u° — 4u? + 4u® + u® + b + 2u,
—u29—u28—|—---—|—a—1, u31+2u30++2u+1>

Iy =(—u*+2u® +b, —v® +a+u+1, v’ —u' — 20 +u® +u+1)

* 2 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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1.
I = (u'®—8u'®+. .-+ b+2u, —u**—u?*+..-4a—1, v 4203+ .. 42u+1)

(i) Arc colorings

= ()

o= )
(J)

- (at)

= (Gte)
o ( MU)
u- (-

(

(s

(

(

u® +8ull + ... —u? -2

2u0 + 2029 + - 4 2u+2
2030 4+ w42

uP +u 4+ 2042
w0 — 13u* + -+ Tud + 1

w® —2ud +u
u7—3u —|—2u +u

—5ut0 4+ 948 —6ul +u2 +1 )

w4+ ud 4+ tut1 )

az =

a5 =
ag = \qyl4 — 6u12 + 13019 — 10u® — 2u8 + 4u* + u?

12 _ 5410 4+ 948 —6ul +u? +1
14 _ 6u12 + 13019 — 10u® — 208 + 4u* + w2

(ii) Obstruction class = —1

(iii) Cusp Shapes

= 2039 — 26028 + 5u?7 + 147u?0 — 59u25 — 460u* + 296123 + 817u?2 — 799y —
658u?° + 11796 — 269u'® — 74147 + 1010u'® — 254 — 570u™ + 536u'3 — 22242 —
2utt + 18610 — 168u® + 98u® — 68u” — ub + 41u® — 40u* + 35u> — 19u? + 5u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W —6u o —du+1
C2 ut +8uP0 4+ 120+ 1
c3, C7 W+ w0 4+ 4 64u+ 32
Cs w3 —6ud £ —18u+5
6,9, C10 W +2u 42+ 1
s w3t =203 o 2u 1
c11 w3+ 8u0 o+ 30u+ T




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, ¢4 Y38y 12y — 1
Co v 136070 4o 148y — 1
3,7 Y3 4+ 3330 + ... — 10752y — 1024
C5 Y34y 4 174y — 25
C6, Cy, C10 3t =280 42y —1
cs w3 - 36y%0 .. 12y — 1
c11 3+ 3202 + .- + 1054y — 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.953391 + 0.3412051
= —0.060208 — 0.8242171
—0.154559 — 1.3858101

5.55958 — 3.208001

—6.18542 4 3.440311

0.953391 — 0.3412051
—0.060208 + 0.8242171
—0.154559 + 1.3858101

5.55958 + 3.208001

—6.18542 — 3.440311

0.825063 + 0.3859791
0.618554 + 1.1935801
—0.63882 + 1.617851

5.21409 + 3.777861

—6.77733 — 1.301791

0.825063 — 0.3859791
0.618554 — 1.1935801
—0.63882 — 1.617851

5.21409 — 3.777861

—6.77733 4+ 1.301791

0.256805 + 0.7693071
1.018830 — 0.9066491
0.90393 + 1.862141

7.07782 — 7.982161

—4.46644 4 5.974701

0.256805 — 0.7693071
1.018830 + 0.906649.1
0.90393 — 1.862141

7.07782 + 7.982161

—4.46644 — 5.974701

—1.191040 + 0.1249021
= —0.150730 + 0.0174871
0.447590 + 0.5500521

—1.84615 + 0.556941

—6.11373 4- 0.015331

—1.191040 — 0.1249021
—0.150730 — 0.0174871
0.447590 — 0.5500521

—1.84615 — 0.556941

—6.11373 — 0.015331

0.195264 + 0.7733771
= —1.255470 + 0.1647801
—0.177950 — 1.1557601

7.92090 — 0.906221

—3.00591 4 1.136071

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

0.195264 — 0.7733771
= —1.255470 — 0.1647801
= —0.177950 + 1.1557601

7.92090 + 0.906221

—3.00591 — 1.136071




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.371835 + 0.5680681
a= 0.797944 — 0.0313261
b= —0.214074 — 0.837766.1

—0.87857 4 1.750441

—3.85072 — 4.546481

u = —0.371835 — 0.5680681
a= 0.797944 + 0.0313261
b= —0.214074 + 0.837766.1

—0.87857 — 1.750441

—3.85072 + 4.546481

u= 1325090+ 0.1543511
a = —2.42287 + 0.531591
b= —1.338960 — 0.3624681

—5.25829 — 1.156811

—12.57201 + 1.488221

w= 1325090 — 0.1543511
a = —2.42287 — 0.531591
b = —1.338960 + 0.3624681

—5.25829 4 1.156811

—12.57201 — 1.488221

u = —0.156640 + 0.6375161
a = —0.041090 — 1.3491101
b = —0.896955 + 0.5686721

1.00966 + 2.221961

—3.40092 — 5.387371

u = —0.156640 — 0.6375161
a = —0.041090 + 1.3491101
b = —0.896955 — 0.5686721

1.00966 — 2.221961

—3.40092 + 5.387371

u = —1.351700 4+ 0.2067621
= 0.051503 — 0.9724301
= —0.62993 — 1.460881

—6.05722 4 3.452381

—10.37888 — 2.193121

= —1.351700 — 0.2067621
= 0.051503 + 0.9724301
= —0.62993 4 1.460881

—6.05722 — 3.452381

—10.37888 4 2.193121

1.355400 + 0.2550321
= 1.82855 — 0.840931
= 1.180600 + 0.6660541

—3.77819 — 5.480651

—9.45984 + 5.940751

= 1.355400 — 0.2550321
= 1.82855 + 0.840931
= 1.180600 — 0.6660541

—3.77819 + 5.480651

—9.45984 — 5.940751




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.374710 + 0.3182701
= 1.72875—0.737741
0.359105 — 0.9345711

2.95558 + 4.850381

—7.33363 — 2.611841

—1.374710 — 0.3182701
= 1.728754 0.737741
= 0.359105 + 0.9345711

U
a
b
U
a
b

2.95558 — 4.850381

—7.33363 + 2.611841

u = —1.40893 + 0.310521
a = —2.64694 + 0.698291
b= —1.12415+ 1.933461

1.77560 + 11.895001

—8.90588 — 6.879311

u = —1.40893 — 0.310521
a = —2.64694 — 0.698291
b= —1.12415 — 1.933461

1.77560 — 11.895001

—8.90588 + 6.879311

—1.45164 + 0.041361
0.77948 + 1.851211
0.915385 + 0.9977891

—1.95006 — 2.953341

—10.65956 4 2.731751

—1.45164 — 0.041361
0.77948 — 1.851211
0.915385 — 0.9977891

—1.95006 + 2.953341

—10.65956 — 2.731751

1.43633 + 0.217081
—0.458519 — 1.2346701
0.376409 — 1.1046701

—6.67621 — 4.653541

—6.91647 + 4.602851

1.43633 — 0.217081
—0.458519 + 1.2346701
0.376409 + 1.1046701

—6.67621 4 4.653541

—6.91647 — 4.602851

0.127284 + 0.4846861
0.09092 + 1.509301
0.622522 — 0.8616721

—1.33374 — 0.830761

—4.07951 — 0.750981

0.127284 — 0.4846861
0.09092 — 1.509307
0.622522 + 0.8616721
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—1.33374 + 0.830761

—4.07951 + 0.750981




Solutions to I}

V=1(vol + y=1C)

Cusp shape

U
a
b

= —0.336229

1.24262
0.739715

—0.889878

—11.7880




II. I¥ = (—u*+2u? 4+ b, —v¥+a+u+1, v* —u* —2u® +u?>+u+1)

(i) Arc colorings

Ay =
az =

a9 =

ag =
—u
as = \ —ud+u
(ii) Obstruction class =1

(iii) Cusp Shapes = 3u? + u? — 8u — 15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 (u—1)°

C2,Cq (u =+ 1)5

C3, Ct u5
s ud —3ut +4ud —u? —u+1
6 wWHut =2 — P +u—1

cg, C11 u’ +ut +2uP o Fu

Cg, C10 Wt =2+ tu+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,Cr7 y5
€ -yt 8y =3 +3y—1
C6,C9, C10 y5_5y4+8y3_3y2_y_1
Cs, C11 V3t A+ -y -1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u=—1.21774
a = —1.58802 —4.04602 —9.19250
b= —0.766826

u = —0.309916 4 0.5499111
a = —0.438694 — 0.5577521 | —1.97403 4+ 1.530581 | —11.97286 — 4.763661
b= 0.339110 + 0.8223751

u = —0.309916 — 0.5499111
a = —0.438694 + 0.5577521 | —1.97403 — 1.530581 | —11.97286 + 4.763661
b= 0.339110 — 0.8223751

u= 141878+ 0.219171
a= 0.232705 + 1.0938101 | —7.51750 — 4.400831 | —16.4309 + 2.80751
b = —0.455697 + 1.2001501

u= 141878 —0.219171
a= 0.232705 — 1.0938101 | —7.51750 4+ 4.400831 | —16.4309 — 2.80751
b = —0.455697 — 1.2001501
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

“ (u—1)%) (w3 —6u 4 —4u+1)
€2 (u+1)%)(u? +8u® + -+ + 12u + 1)

c3, Cr u® (w3 4 w30 4 - 64u + 32)
€4 (u+1)%) (W —6u0 4 —4u+1)
& (u® — 3u* + 4u® —u? —u+ D)W —6u® + - — 18u +5)
Co (u® +ut =20 —u? 4 u—1) (W + 2030+ F2u+1)
Cs (u® +ut + 20+ +u+1) (W =203+ F2u+1)

¢y, C10 (u® —ut =20+ +u+ 1) (W + 2030+ F 20+ 1)
11 (u® +ut + 203 +u? Fu+ 1) +8u3 + -+ 30u+7)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, ¢ (=) =8y +---+12y — 1)
€2 (y =" +36y™ +- - +48y — 1)

cs, cr yP (3 4+ 3370 + - — 10752y — 1024)
€ (y° =y + 8y — 3% + 3y — 1)(y3 + 490 + - .- + 174y — 25)

C6,C9,C10 (yv° =5y + 8% =3y —y — 1)(* — 280 + - 42y — 1)

8 (v" +3y" + 4% +9* —y = D™ = 36y" + - +2y — 1)
¢ (v° +3y" +4y° +v° —y — D(y°" + 329> + - + 1054y — 49)
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